RECORDING 1c

Fall-Rise divided over two full vowels
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He “didn't “telephone. He's “educated

Fall-Rise spread over two words
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“You can see. “John didn't come.

Fall-Rise with preceding Rise onset = Rise-Fall-Rise
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"Nothing's im possible. You can see.

(4) Rising-Falling nuclear tones

Rise-Fall

‘OOO‘.\ “‘.\.

He wasn't a"lone. It was “raining.

Spread Rise-Fall
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You'd “better. It was “yesterday.

(5) Level nuclear tone

Mid Level Spread Mid Level
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On my 'way to “work.  On my 'way to “Manchester




